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The figures in the margin indicate
Jull marks for the questions.

1. Choose the correct answer : 1x5=5

wm Casee! A Tiea

(i)  Which of the following is an example of
system software?

weTe fRAl (IOl OIS 5o <ol Buizgel
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(A) Microsoft Word

(B) Adobe Photoshop

(C) Windows 11

(D) VLC Media Player
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(A) ’ﬂw T " (iv) Length of network address in class B
' : of classful addressing is
B) 9G] TH55 X P P
(B = : P RabeI 6 R I +53F Gmss o
(C) B=m 5> o ==
(D) fS. @& . oA cel (A) 8 bits (B) 16 bits
(ii) Which of the following is a preemptive . (C) 24 bits (D) 32 bits
scheduling algorithm? (A) v RGg (B) v [oy
R @RI Rt EPsRER gemitey (C) 8 Ry (D) 3 5%
' (v) Default post number of HTTP protocol
(A) FCFS (B) SJF . is
(C) Round Robin (D) None of these B BRAL. dowerm v o155 7R e
(8) 9%.f5.9%.9p. (B) 9b.Ca. 4% (A4) 22 (B) 24
(C) %™ *RA (D) (I <D 7R | (C) 80 (D) 110
A
@iii) Internet is an example of (A) 23 (B) *8
3 B} Tz TR TIRTG | (C) bo (D) 530
A) LAN (B) WAN 2. Answer any five of the following questions
® |
(C) BAN (D) SAN briefly : 2x5=10
) @ B) & | R Rt “Hoht 2| vate e Was
() What is system software ?
|
(C) &+ (D) & i o v3oR & =9
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(i) Define system call.
forsw T wiee Wt

(i) What is turnaround time in process
scheduling?
255 (GRGRIse BraaTs BT & =2

(iv) Define thread.
(Ao e Tl |
(v) What is internet ?
THREG B =
(vi) Define network protocol.
5 et wicel fra]
(viii What is routing ?
TSR & =W
(viii) What is the function of ARP protocol?
Qo elbem am e
(ix) What is HTTP protocol ?
a2 BHM. oo & e
(x) What is the function of DNS service ?

.95, R N e
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3.

Answer any four of the following
questions : 5x%4=20

(i) Write about different types of software
with example.

TrizgiR Rfen eie sowee Raw Bt

(i) Write briefly about different generations
of operating system.

SRR BedR Riew oo Raw sats
fewn .

(i) Explain how shortest job first

scheduling algorithm works with an
example.

e TR WY GRERR eRow QT I
RIGRTESCrEE Cicg T

(iv) Briefly write about different network
topologies.

Rfen o€ e Raca sage B

(v)] Briefly write about different layers of
TCP/IP model.

... /=i, swoer Rivw e Raw
S
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) : ii) Briefly explain about different guided
: ; f t error detection (iii) y €xp ent guide
(vy) Wr111te about ?;: : gen in network [ and unguided media used in network
zgmfnﬁi?ca tion 1 communication.
e i IR @Rt Rfew @' o @ hlicATe R 9 Rin <izces
’ s Raw T NIZCCT TGN [RIT 530 TR 40 |
(vii) Briefly describe about.different classes (iv) Consider six processes P1, P2, P3, P4,
of classful IP addressing. P5 and P6 with following arrival and
Fioge Wiz, qafbes Ko FvER Rew burst time :
St 9ol 1 oS B 9! IRIRTSE WiF Y IR Tire
(viii) Briefly describe about different %! A5 P1, P2, P3, P4, P5 and P6 %o
protocols used in E-mail service. i E) i
_iae GRS IRRA (1 R et R SATE5 GRS I
-
St 301 T (Process) Bigw Bizw
4. Answer any one of the following questions : (Arrival (Burst
' 1x10=10 time) (time)
o Rt «re e TR il ¢ P1 0 5
(i) Explain about different types of P2 0 4
operating system. P3 1 1
o oRR S Brew Ram adqt =i P4 1 3
(i) Write about two non-contiguous PS5 2 1
memory management schemes. P6 3 1
7 F-STOIS (TR GICRGTTTs afos R
feram
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Draw Gantt chart and compute the
following criteria :

5% SIHH ST I T SeTe B I

iR (2! Sfered
(a) Average turn around time
NG BIHITS Bizw
(b) Average waiting time
.(c) Average response time
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